
Formal Geometry        4.7 Worksheet 

Do all work on your own paper! 

 

For #1 – 3, find the missing coordinates for each triangle. 

1)       2)       3)   

 

 

 

 

 

 

 

 

For #4 – 6, classify each triangle as scalene, isosceles, or equilateral.  Provide evidence for your decision. 

4)  𝑋(−5, 9); 𝑌(2, 1); 𝑍(−8, 3)    5)  𝐴(7, 6); 𝑌(5, 1); 𝑍 (9, 1)  6)  𝑃(3, −2); 𝑄(1, −4); 𝑅(3, −4) 

 

For #7 – 8:   Given ∆𝑋𝑌𝑍 with 𝑋(0, 0); 𝑌(2ℎ, 2ℎ); 𝑍(4ℎ, 0). 

7)  Find the slope of each side of the triangle.  Is the triangle a right triangle?  Explain your reasoning. 

8)  Classify the triangle as scalene, isosceles, or equilateral.  Provide evidence for your decision. 

 

For #9 – 10:   Given ∆𝐴𝐵𝐶 with 𝐴(0, 0); 𝐵(𝑎, 𝑏); 𝐶(2𝑎, 0). 

9)  Find the slope of each side of the triangle.  Is the triangle a right triangle?  Explain your reasoning. 

10)  Classify the triangle as scalene, isosceles, or equilateral.  Provide evidence for your decision. 

 

11)  A right triangle has vertices at (0, 0) and (𝑎, 0).  Which options below could be the coordinates of the third 

vertex?  Choose all that apply. 

A)  (0, 𝑎)     B)  (−𝑎, 0)  C)  (𝑎, 𝑎)   D)  ((0, −𝑎)       F)  (𝑎, −𝑎) G)  (−𝑎, −𝑎) 

 

For #12 – 14:  ∆𝑨𝑪𝑩 is an isosceles right triangle.  Point D is the midpoint of BC. 

12)  Find the coordinates of point B. 

13)  Find the coordinates of point D. 

14)  Find the slopes of 𝐴𝐶 and 𝐴𝐵.  Explain how these slopes 

support that ∆𝐴𝐶𝐵 is a right triangle. 

 

 

 

15)  Find the measure of ∠𝑆. 
 

 

 
Answers: 

1)  𝐴(𝑎, 0); 𝐵(𝑎, 𝑎)  2)  𝐴(3𝑎, 0); 𝐵(1.5𝑎, 𝑏) 3)  𝐴(4𝑏, 0); 𝐵(2𝑏, 2𝑏√3) 

4)  Scalene 5)  Isosceles 6)  Isosceles  

7)  slope of 𝑋𝑌 = 1; slope of 𝑌𝑍 = −1; slope of 𝑋𝑍 = 0.  Thus, the triangle is a right triangle, because two sides have slopes that are 

opposite reciprocals, and so 𝑋𝑌 ⊥ 𝑌𝑍, forming a right angle. 

8)  The triangle is isosceles, because 𝑋𝑌 = 2ℎ√2; 𝑌𝑍 = 2ℎ√2 and 𝑋𝑍 = 4ℎ. 

9)  slope of 𝐴𝐵 =
𝑏

𝑎
; slope of 𝐵𝐶 = −

𝑏

𝑎
; slope of 𝐴𝐶 = 0.  Thus, the triangle is a not right triangle, because none of the sides have 

slopes that are opposite reciprocals, and so no sides are perpendicular. 

10)  The triangle is isosceles, because 𝐴𝐵 = √𝑎2 + 𝑏2, 𝐵𝐶 = √𝑎2 + 𝑏2, and 𝐴𝐶 = 2𝑎. 
11)  A, C, D, and F  12)  (𝑎, 2𝑎)  13)  (0, 𝑎) 

14)  slope of 𝐴𝐶 = 0; slope of 𝐴𝐵 = undefined.  All horizontal lines have a slope of 0; all vertical lines have a slope of undefined.  

Any vertical line is perpendicular to any horizontal line if the lines are coplanar, and so the triangle has a right angle. 

15)  60° 
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(?, b) 

(0, 0) 

(?, 2𝑏√3) 

(4𝑏, ? ) 

(a, 0) 

(?, ?) 

(−𝑎, 0) 

(a, ?) 

(?, ?) 

(0, 0) 


